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CH-I/Fin. Ac./CC-I/17
B.Com. 1st Semester (Honours) Examination, 2017 (CBCS)

Subject : Financial Accounting-I

Paper : CC-1(1.2)
l“ime:;;k%'S Hours Full Marks: 60
The figures in the right hand margin indicate full marks.
Candidates are required to give their answers in their own words
Ny 4 as far as practicable.
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1. Answer any ten questions: 2x10=20
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(a) Who are interested in Accounting information?

I TRfemTad o wiag e

(b) What is money measurement concept in Accounting?

ZorRaEE i Afase a@e e

(c) What do you understand by Accounting Standards?
¢ s AW F#0e @R

(d) How do you distinguish between entry and 'posting’?
wiE ¢ 2o Fiasaer S o e o1k Rda sa@e
(¢) What is meant by ‘revenue’ in Accounting?
ARz ‘@fe e’ @ e § @rie
(f) Mention any two causes of depreciation.
wrRibfon e 4t aRd Sw 3@
(g) Mention two advantages of FIFO method of inventory valuation.

TGS AR JeREA FIFO #wfon vfb Afdy S ata

(h) Mention two points of difference between capital expenditure and revenue expenditure.
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(1) CH-l/Fin. Ac.JCC-I/17

(©) “Antcipate no profit, but provide for all possible losses”— Elucidate

TNUT W A0 W, ey gty wien ey witme qray sace o) a s
(@) From the following particulars obtained from the books of Roy & Co, prepare the Purchase Ledger
Adjustment Account in General Ledger:
01.01.2016 :
Opening Balance (Dr.) ¥ 2,500
r)x 80,000

Transactions held during the year 2016;

Total purchases T 1,00,000
(ncluding credit purchases of Rs. 90,000)

Retum to Creditors T 4,000
Cash paid to Creditors T 67,000
Discount received T 4,000
Cash received from Creditors 3T 1,000
Allowances received < 1,300
Bills Payable accepted 3 2,500
Closing debit balance on 31.12.2016 T 1,000
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(e) Disunguish between Income & Expenditure Account and Profit & Loss Account.
A o ¢ we-eem o sy e A

(f) A fire occured in the premises of a trader on 01.07.2016 and stock worth ¥ 30,000 was saved. The
trader desires 1o file a claim with the insurance company, The purchases and sales for first 6 months
of the year were ¥ 2,10,000 and ¥ 4,57,000 respectively. Stock on 01.01.2016 was T 1,57,300. Wages
for the period amounted T 90,000,

You are required to calculate the claim of the policy assuming that the sum insured was 2 2,00,000
and the trader maintains an average gross profit of 20% on sales.
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3. Answer any two questions: IOXQ:%
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(a) Mr. C carries on a grocery business and does not keep his books on double entry basis. The followjng

particulars have been extracted from his books:

01.04.2016 31.03.2017

<) )
Plant and machinery 25,000 25,000
Stock 22,000 19,500
Sundry Debtors 8,000 25,500
Sundry Creditors 12,500 10,000
Cash in hand 400 800
Bank balance 6,250 7,000 (Cr)

The following cash transactions took place during the year ended 31st March, 2017:

) )
Received on account of cash sales 31,250 Payment for purchases 28,850
Received from sundry debtors 1,60,000  Payment to sundry creditors 1,32,000
General expenses of business 21,450
Wages 15,000
Drawing 6,800
1,91,250 2,04,100

During the year 2016-17 Mr, C took goods of T 1,950 from the business for his own consumption.

You are required to prepare (i) Trading and Pofit & Loss Account for the year ended 31st March,
2017, after charging 10% depreciation on plant and machinery and (ii) Balance sheet as on thal
date.
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(1) Memorandum Joint Venture Account
R @ s R

(iil) Necessity of Income measurement in accounting -
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